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v A v v mA mA mAV | kQ | VNV ] Q v v mA | W
100 | —8,5 8,5 7.8 64 | 50
150 | —1,85 6,3-10,7| — 0,002 | 53=81 |72 | 46 | 220
El8ocC | Phl ! 6,3/12,6| 0,4/0,2 [ 275 | 1=—100 2 maximum 100 200 20 2
—200 50 peak?d) 200
[ 150 —2 6,3+107| — 0,001 | 53+81] 63 | 47 | 220
5965 int l 6,3/12,6| 0,45/0,225|F 330 | 0+-—75 0,5 maximum 100 200 16,5 2,4
l 10+-—200 50 peakd) 200
[ 180| —2 55--11,5 4+7,25 | 7,65 | 42,5 |
6414 GE | 6,3/12,6 | 0,45/0,225{ 200 | I-~—50 { maximum 100 100 20 | 2
l 10+—100 50 peak?) 150 150 | 200
1) vide * 3; ?) vide * 4, a, b, ¢ = 10.000, e, f, g (Uf= 6,3/12,6 V £ 5%; *) impulse < 10 11sec; f= 100J Hz
Equivalents
Cq Ca Cla Cklr | Calg Cala
T.
5965-A amer = 5965 pF pF pF pF pF pF
6829 GE = 5965
ez Rifier = B 180€C E180CC (I sect. 324 03-07 1,8+2,6 35
Il sect. 34 0,25--0,65 1,927 3,5 0,06 1,3
5965 [ 1 sect. 3248 | 034066 22+3,8
11 sece. 3,248 0,23+0,49 22+3,8 0,015 1
6414 | sect. 3+5 0,37--0,57 2,4+3,6 3:5
6829 Il sect. 3+5 0,3-0,46 2,4+3,6 3=5 | 0,03 0,9
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